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QUESTION 1

You have configured class mode power management on an EX4300 to provide PoE power to telephone and security
camera equipment. You want to ensure that security camera power takes priority over telephone power. 

Which two actions would solve this problem? (Choose two.) 

A. Connect the security cameras to the lowest port numbers on the switch. 

B. Set the power priority to high on ports connected to security cameras. 

C. Set the maximum power settings on ports connected to security cameras. 

D. Set the power priority to low on ports connected to security cameras. 

Correct Answer: AB 

 

 

QUESTION 2

Click the Exhibit button. 
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Which two statements are true about the 802.1X output shown in the exhibit? (Choose two.) 

A. The supplicant is not authenticated using 802.1X. 

B. The supplicant is authenticated using 802.1X. 

C. EAPoL traffic will be sent out of the ge-0/0/1 interface. 

D. EAPoL traffic will not be sent out of the ge-0/0/1 interface. 

Correct Answer: AC 

 

 

QUESTION 3

You have multiple BGP routes to the same prefix with equal local-preference values and AS-path lengths. In this
scenario, which route will be preferred in the route selection process? 

A. The route with the least preferred origin value. 

B. The route with the lowest MED value. 

C. The route with the most preferred origin value. 

D. The route with the highest MED value. 

Correct Answer: C 

 

 

QUESTION 4

Click the Exhibit button. 
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You are configuring an EVPN overlay to allow VLANs to be stretched between two campus sites, but EVPN routes are
not being exchanged. 

Referring to the exhibit, which configuration statement would solve this problem? 

A. Apply the delete protocols bgp groupEVPN cluster 172.1.1.55configuration on MX2. 

B. Apply the set protocols bgp group EVPN family inet-vpn anyconfiguration on MX1 and MX2. 

C. Apply the delete protocols bgp group EVPN multipath multiple-as configuration on MX1 and MX2. 

D. Apply the set protocols bgp group EVPN family evpn signaling configuration on MX2. 

Correct Answer: D 

 

 

QUESTION 5

In a Layer 2 environment where 802.1X is deployed, which two statements are correct? (Choose two.) 

A. RADIUS messages are exchanged between the supplicant and the authenticator. 

B. RADIUS messages are exchanged between the authenticator and the authentication server. 

C. Extensible Authentication Protocol messages are exchanged between the authenticator and the authentication
server. 

D. Extensible Authentication Protocol messages are exchanged between the supplicant and the authenticator. 

Correct Answer: BD 
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